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#i e-d d ftiynTsT{ siac Afuq r cTri d s6 tsTd Erkfr 3f{ eifuo tr
Ansrver from both the section as directed. The figures in the right-hand rnar_sin ind

EIW -3T/SECTION-Affifutr 3rfr dg-snfrq qq-n d s.rq fifuq,
Attempt verv short anslver from the follolving questions
(a) ftufq +i qil qrBq qE-q Eqr t?

rvhat is the rnost diflcult aspect of decision nraking?
(b) ft,{q q-qiq-{uT zm qq-srrgf 

r

Explain decision environment.
(c) v1;u qR-o-e-qT o\ Eqsrgl r

Explain Null hy'pothesis.
(d) inrR-fr qrq q,t 3rqqRq-t o1 1]qsr{q r

Explain the concept of critical value.
(e) XUT sqq 6-l erPi vqse qflfr\ 

f

Def ine association of attributes.
(0 q=f 3rr-{fr q{ HlSw frluuft frfrf r

Short not on class fi'equencies.
(g) lTI-Mf-q X"T frq-rrr fr 3TTtl zrqT rrqgt t?

r,vhat do you understand b), statistical quality control ?

(h) $fien q-frqq-{ .nI lrqsr{g I

Explain Acceptance sampling
(i) 3{T-rrrrTuFT zFT r+qHf{g I

E*plain interpolation

0) qT 1q rrFr or rlq-grg\ r

Explain extrapolation.
fuqFafun ag-strftq rrn d vrq €fqg: (qr"( fiqr so T<)
Ansn,er the follon'ing short anslver t1,pe questions: (u,ord limit 50 lvords)
(a) q-fu"{m qd * 3TTrr qqr qqsA t7

What do you mean by a competitive garne?
(b) 6T$-q.f qfierq d An.- sqqt'r znr quf-q otfrq r

Describe the various use of the chi-square test.
(c) gS TT rr.{q de{T 3ilfrrfr 5ur lrqq zFT r5qgr{g I

Explain the cornplete association and partial association.
(d) rffi q-Rz-trq q-{ rifHK M ftforr

Write shor-t note on acceptance sarnpling.
(e) t qr;qnx qqT B fu-{ q-{ G{T'fl{TuFr of frfuqr fr'riy s-{fr t?

u,hat are the asslrrnption on r,vhich rnethod of inter polation are based ?

lgug -q/SECTION-Bffifun frd-urfi-q rrqt d urq flfuq:
Anslver the follorving long ans$,er t1,pe questions
ffiifua qrfu ilfu?rT rN fuq1q elfu-
cons ider the lill lou,irrg tab le-

esF.Iq 3r-flTqrfi 1offfr, .n" qT;I o.2s Eq lTT

[Jsing l{urrlitz coelf]cient of optimisnr as 0.25 deterrrrine u,hich alternative in the best.
orerEr/OR

"erfttr+or of Rerfa d 3m,fd fuq qrq<Ts Fnfqm-f 01 EM"r q erft-rro vr f{ErfRd El-fr
"Decision criteria under situation of unceftainll, are eoverned by the attitude of the decisi

d r+il, qilTqFffirifun em frri .rq 3r$TrTn t s-{fu-a 3rrf,s FE ro-x t r <rll c q.F fr
ffftq 31s a-,il t ir*go fu-qT -

f,l lu.r int u nt ,ll urks : 80

l,1l itt innt nt P u.s.s i ns,llurk.s :

nrarks.
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a

t The independent investigator draw sarnples from one and the same group of population and btainecl the tbllolving results (the

_sroLrps are defnre in one and the same faslrion fbr both inst

qfteror olft\ fu {fiI59 3TETil'

E,xarnine u,hether the sampling teclrniclues of both the investigator are identical.
3TQI{[/OR

+{dr qsii tg ft Glrn .r} yo qftrq} d ergqp6 6r Grjqn q,-{i d ftr r-o 3ranr fr-qr
qlqcf d d{er 150 .{Ef,di o1 fr ff6r drrr qT t sq-q t &o.r drTri qri qBildr d ergq6 61

I ooo qfaf,-qi m \-fr qr{f.u-fr
959,o q{mFT iftqT\ fr -flIn entftry 

t

It is desired to estinrate the proportion of people in a certain town who have been vaccin asainst sr]rall-por. Out of a

5.

6.

7

random sample of 600 only 150 had been vaccinated. Find also the 95% confidence lirnits
fufr qsftoreq d.ra,i sre rmreit cpn scri ffid urarerl or fucrqq ang d eqwn 4-n
re q{ d crw dtfi f,, a+w-or oql ffio unrei d fi-a x"Rffir 1qr6 Eld o1fuq r

Follou,ing in the distribution of fenrale student and married female student studding in a colle_qe. according to age of rna-iority

lation.
q6 ql;lqx tu T{r{tr-flT

ied fenrale students.
fr \qtgr
ale students

fiTT fr qrf sir{ftqi oT fu-_{ Prd oi

associated '.) u'hAt are the condition

frq ecnrt t r <lq g,df, E-fiT-Sql qft

a control chart for nulnber of

2Atl

in attained atier l8 years. Calculate the coefficient of association between majority and marr
!,rg (q{ {) urdrcif qrt {icqr ffid srzrcrl r

Age (in years) No. of female students No. of married fem
16 300 240
t7 240 t68
18 200 120
19 120 60
20 100 36
2l 60 14

3r?rqloR
oq d 5"il q (ot) rdtr, (e) u+m-o 5oT \{EitI ael (v) zzur;fl.5 5,T €qq qrfli qrdl t t rcto ,

go or+ dor t r

wlren are two attributes said to be: (A) independent (B) positive associate and (c) negatively
to be satisfied by class frequencies in each ofthe above cases?
qrq6 roo d erron d zo qmfu-o cM ftrd Ti I ait qrfr .ffi dv gm {6rgdt tbt scqT
ricqr d fu fr'firr qd rdr-{n I

20 sarnple were taken each of 100 units. The number of defectives found are as under. Draw
det'ectives.

2 6 2 4 4 l8 0 4 10 t8
2464802240

3rers/oR
qA{ CE eg utri n rnftq+tq X"r fu1"t o1 enq{sfi-dl q sffift;61 or r{l&w fui+q
Discuss briefll' the rreed and utility of statistical qu
ftft=;{ E-qT t ftxfr yrE{ 01 ulrr@T frq fufud ?ft

ality control in cottage and small scale
I 2o1r d fr\ E-{'rflr{r o-r 3{-jqm ,qrl-{S

The population of cerlain town is given below in the year mentioned. Estimated it for theq{ qrc{rqr (aru t)
Year Population (in lakh)

l98r 22
t99l 27
2001 34
2007 39
20n 42

OR
Fq ilfd-mT d sq Mff of rrcqr sp6 onftl fudi ar6 crq' ffi*
Fror.n the following table. find out the nunrber of those students who obtained marks.
(i) qs t 6q (Less then 45 (ii) ss t oc (Less th 55)

(iii) 4s i1 ss d f,q (Betu,een 45-55)

3il-O

Marks
40 * o-q (blorv ,10)

so t oq (belo\\'50)
so 11 60 (50 to 60)
60 fr 3rB.F (More then 60)
to rT 3rfqzn (lVlore then 70)

( iv) ss qT 3rfDo (5 5 or

mf$i of ssr
No. of Students

31

73

51

66

31

3irq ili (lncome group)3r$1il-{ O-iit
(lnvestigator') ,rsq

( Poor)

qt{ q4
(Middle-class) (Rich)

TFTZII=T t-
(Toti r)

A r60 40 2A 22(
B r40 100 40 28(

qFr 300 140 60 s0(
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